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1.  graph f(x) =  
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   be sure to label all the asymptotes and to list the domain the x and y- intercept 
2. f(x) = 
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- sketch the graph and use the graph to determine whether the function is one to one 

      -if the fucation is one to one find a formula the inverse
3. in chemistry the ph of the substance defined as 

ph = -log [H
[image: image6.wmf]+

 ], 
find the ph of each of the substance 

 substance                            hydrogen ion concentration 

a)  juice                                      1.6x 10
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b)   hire rinse                              0.0013
c)  mouthwash                          6.3 x 10
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d)  eggs                                     1.6 x 10
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e)  tomatoes                               6.3 x 10
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4. solve using any method
         In(In x) = 2
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